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Chapter 1

p. 8, formula above Section 1.2: It should be k4 � k2 � 2k � 1 instead of
k2 � 2k � 1. However, the conclusion remains valid, since the correct
quantity is not bounded, either.

Example 1.10, page 13: It should be


(x+ y) = 0:1219� 106 = (x+ y)(1 + �



p. 119, equations (3.17):



Letting g(z) = 1, g(z) = z, g(z) = z2, and g(z) = z3, and setting wi =
2�i = (b� a)�i, we obtain the following nonlinear system:Z 1

�1

1 dz



p. 400, item 1 of Example 7.5: It should be

yj = y0(1+(=)]TJ/F11 9.9626 T -203216 0 Td �h(0)]TJ/F8 9.9626 T11.55216 0 Td )(y)]TJ/F10 6.9738 T3.874Tf 11395 Td [(j)]TJ/F8 9.9626 T-191-8.296 5.2.395 Td insteadIt o=yj = y0(1+(=)]TJ/F11 9.9626 T -203316 0 Td �h(0)]TJ/F8 9.9626 T11.55116 0 Td )(y)]TJ/F10 6.9738 T3.875Tf 11495 Td [(j)]TJ710 6.9738 T3.69916 0 Td +15:



and

G(x) = (g1(x





Step 3:
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